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Dire nents pest
R d the following Which one of the following state
s that follow the »
! ;t hould be ba reflects the crux of the passageé .
- " A' (a) Generation of enersy from municP
| solid waste is inexpensive:

g

In India, the & .. B, Biomethanation is the T o) solid
4t source is ERESHS ikl .M A  generating energy fro™ e
nmrmalalsec;or. u,* ( ! r" 'f‘%": t'l’f‘,‘ } waste. s
municip - . R S sién cipal solid waste
tranSportation, w o w o n'mm i the success of
\3} the first step in ensuring
I Wy .ngy lants.

e does was ‘- w . ia’
Wher . s 17 ent of Indla S
ldeally it fits in ' The biodegradable compo™ te to
(between Wwet ! .,Muwl solid waste is POt s te

e was

energy from

healthler The reality is
l:anic farming industry is
ot well-regulated in India,
nsumers, alike, are not only

at products are best for them,
| Kncts in ways that could

mumclpal sohd wa
and blomethanatlon

processing this.

1. Collection, on For example, since organic
ferti : 1t to obtain on a large scale

¥

municipal
use farmyard manure,

government

Resource rec 1 toxic chemicals and heavy

technol_' | _sprays, such as Datura
handled ' ;, have an element called

mmmthe right dose, it

sm of the consumer.

nd when to use it are

Y .
ed 1ssues.
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tantially in India 0ver the pa* of many
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itious foods such as mi while f 00"5“""

actices are inevitable even
ot address malnutntmn
on a few crops has negative

(a InIn ‘
T nces for human health and the

pohcxes regarding food
to incorporate nutritional

(b)
t monoculture agnculture

W receive subsidies in
-ﬁpd govemment offers
i grains and
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reduce pol]utlon

Which oné ©

11. 1
the ik [

reflects
implication

(a)

(b) Knee-jerk:
problem'

() A heavy
those dri
tests. )

(d) In the abser

problems‘ 3

administrat

decisions.
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genda of the
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d the world to €
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-rowth of certain plant species and allowing

ide susti ivo
enance to other herbivorous animals

fruits and seeds,

hants eat plants,

as they travel. Elephant dung provides

ces
and acts as a |-

,rishment to plants and animals

eding ground for insects. In times of drought,
h benefits [

oy access water by digging holes whic
er wildlife. i i £
following statements besf’\ b
reflects the most logical and rational inference | ;
that can be drawn from the passage ? |
The home range of elephants needs to be.
a vast area of rich biodiversity. €
Elephants are the keystone species and i
they benefit the biodiversity. . S
] o\ N

Which one of the

}13.

Elephants ar
forests  with
requirement-

=8, 96 11®30=5,
3, what is the value of

species

70910
11@17@,21=1
23040157

(a) 6
(b) 8
) 13
@ 15
i

that 7x + 968

ve integer such
ues of x aré Lot

Let x be @ pOSl'ti
How many val

divisible by X.
possible?

(a) 10

(p) 11 #

) 12 )

(d) Infinitely many : ' ‘- ‘ P
Lk

Passa

Ele S P \
g pl;ant. are landscape architects i
ing clearings in the forest, preventing’

. for the regeneration of others, which in turn "

agating the seeds when they defecate in other |

(a)
o
i)
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If p, q, r and s are distinet single digit P¢ ' of
numbers, then what is the gre? est VA1
(p+qir+s?

(a) 280
(b) 225
(0 224
() 221
A number N is formed DY writing 9 o
99 times. What is the _emainde’ if N 1°
'~ divided by 13 ?
@ 1
b 9
17
. Each diglt of a é-digit number 18 . It 38
IR, mulﬁplied by itself. What is the sum of the
digits of the resulting number ?
(a) 64
(b) 80
(4 811
(d 100 °
‘What is the sum of all digits which appear in
all the integers from 10 to 100 ?
(a) 855
(b) 856
(c) 910
@ 911
ABCD is a square: One point on each of AB
and CD; and two distinct points on each of BC
~ and DA are chosen. How many distinct
~ triangles can be drawn using any three points
as vertices out of these six points ?
16
18
20
@ 24
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Directions for the following 3 (three) items :

Read the following thpee passages and answer the

The emissions humang put into the

atmosphere now wi] affect the climate in the
middle of the century and onwards, ‘
chm, meanwhile,
transition away from

Technological
could make a f;“m

fossil fyuels cheap or it
might not, leaving the world with a tenriblt_;

choice between sharply reducing emissions at
huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge
against the threat of uncertain outcomes fail. The
world cannot afford such recklessness on climate
change.

21. Which one of the following statements best
reflects the crucial message conveyed by the
author of the passage ? '

(a) . Businesses that cause emissions may
need to close down or pay for pollution in
future.

(b) The only solution is technological
development related to the issues of
climate change.

(¢) Waiting to deal with carbon emissio.ns
until technology improves is not a wise
strategy. .
Since future technological change 13

(d) .
| certain, new industries should be
un 44y

Environmental probl
problems. Substantial change "
reduce environmental or hes ”
this idea appears almost im
With environmental problems
can be perceived as having a n s
‘therefore lead to inertia. With
other hand, individual choices ¢
difference between life and d
- yet, barring a few, there saé!hs

wMe lethargy toward§ making
R, -

22. Which oné of the fo
implies the most r i
be made from the p

(@
o
It is the job"qf"thg goimm

our environmental and p

(b)

problems.

(¢) Health can be
environmental

‘unattended.

(d) Loss of traditional lif

influence of western val

urces.
based on renewable energy SO

(13
XDTG-S-DNK
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Passage - 3 24

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous d;'iéts*that

do not provide the dai!y nutrients f&gr them fo‘?‘

25.

(a) The scheme of Uni
should be imple
way of poverty allevia A
(b)) We must place food
the centre of our po
(¢c)  Nutritional status of
improved by
genetically modified crom
(d) Using modern
q technologies, we must fo
with required nutrient e . 3
XDTG-S-DNK 3 - “(15-8B)
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Three of the five positive integ -I
are even and two of them
necessarily in order). Consider &

L p#a+r-s-t is definil
2. 2p+q+2r-2s+t isde

Which of the above stateme

(a) 1only

(b) 2only

(c) Both1and2
(d)

Neither 1 nor 2

Consider the followmg in

B p+¢
P~ie

2. 2p+ccanbeodd¢{‘

can be even. f‘

3. pccan be odd.
Which of the statements give

correct ?

(a) 1land2only

(b) 2and 3 only fo
1a0d 3only B8 ol ;,;;‘ ‘

(d 1,2and3 PR N

A 3-digit number ABC, on multipl
D gives 37DD where A, B, c\
different non-zero digits. What
A+B+C? '

(a) 18
(b) 16
© 15 b
(d) Cannot be d

insufficient %
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27. For any choices of values of X, Y and Z. the
6-digit number of the form XYZXYZ is
divisible by :

(a) 7and 11 only
(b) 11 and 13 only
(¢) 7and 13 only
(d 7,11 and 13

98, ,“125 ldentlcal cubes are arranged in the form of

a cublcal block. How many cubes are
; Igumunded by other cubes from each side ?
@ 27
-iﬂ’) 25
(%) 21
i (d) 18

29, ﬂu ininy distinct 8-digit numbers can be
by rearranging the digits of the
23344 such that odd digits occupy
y and even digits occupy even

s | Read the following three passages.

repp
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Directions for the following 3 (t

items that follow the passages. Your
items should be based on the passage

Passage =1

We often hear |
different States in India over ri
20 major river systems, 1
water-stressed; 76% of the poph
water-stressed regions, a third of
water-scarce areas. Climate change
of rising population and the need
to keep pace, and increased rate 0
and industrialization will exace
stress. According to the Constitution
water is a State subject and not vt
Union, except for regulation of inter- o
Key to ensuring balance between I
demands of various stakeholders is g
approach to allocate water amongst
regions and States. Allocating fair sh
to them requires assessments based
criteria, such as specificities of the riw
size of dependent population, existing a
and demand, efficiency of use, projectec
use, ete. while ensuring the environme
of the river and aquifers. ‘

Which one of the following state

about = Ck

ki 31.
5 & 39 C working mdependently can do a piece reflects the most rational, practie
4@ work in 8, 16 and 12 days respectively. A immediate action required to ensure
a.lone works on Monday, B alone works on equitable allocation of water to
L ’ stakeholders ?
Tuesday, C alone works on Wednesday;, A ‘ ,"
‘alone, again works on Thursday and so on. (a) ;\ natlon&;i, pragmatic, legal a
13 X am fi D )
ﬁ! Consider the following statements : bre m‘:(;’:’ or water all e
- 1. The work will be finished on Thursday. () All river aystorns of thall . A
9. The work will be finished in 10 days. be linked and huge aquif ..w . |
Which of the above statements is/are correct ? (¢) Water channels between \
water surplus and regi i
(a) 1only deficit should be created. t
; 3 ouly (d) To mitigate water crisis, w:
(c) Both 1 and 2 of sectors such s S W |
(d) Neither 1 nor 2 industry should be reduced. ¢
(17-B)

XDTG-S-DNK
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Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer

from anaemia. According to studies, they are

anywhere from 5 — 159 |egs productive than they

could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 ‘million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
qumabely nourished peers. For an economy that
will be more dependent on highly skilled
wgkers, this poses a significant challenge. And it
is-mdne that really should be addreséed given
Iﬂms demographic outlook. il

82. Which one of the following statemenf's best
s what is implied by the passage ?

" Education system must be strengthened

in rural areas.

scale and effective

() Large
implementation of skill development

l 3 ! programme is the need of the hour.

i ; For economic development, health and
B, nutrition of only skilled workers needs
=l ~ special attention.

() For rapid economic growth as envisaged

by us, attention should be paid to health

and nutrition of the people.

XDTG-S-DNK
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In India, a majority 0{}
marginal and small, less ;
possess low adaptive capablli
change, perhaps because of cre
constraints. So, one vy
autonomous adaptation to «
Even if it was possible, it
sufficient to offset losses ‘.
change. To deal with this, a
climate change is paramoun .’
fast mitigation response. Anot
to have A
adaptation,

a planned or

which  would
government to come up .
recommendations. Perception m
pre-requisite ~ for adaptatlmﬂ,

farmers are adapting agricult :

perceive it or not. However, this is
enough for adaptation. It is import
farmer perceives the nsks asso -:
climate change.

33. Wb orie of the fouoﬁg stat ,

reflects the most logical and ratia
conveyed by the awﬂmr of the pass;
(a) Adaptation ’to “climate & ’
mitigation response are bas
responsibilities of the govern:
(b)  Climate change causes g
government policies
patterns in the country,
(¢) Risk perceptions of
important for motiva
taking adaptation deci e
(d) Since mitigation isA
governments should com

policies for quick
change.




XDTG-S-DNK i

WWW.prepp.in

34. Raj has ten pairs of red, nine pairs of white
and eight pairs of black shoes in a box. It;he
randomly picks shoes one by one (without
replacement) from the box to get a red pair of
shoes to wear, what is the maximum numh v
of attempts he has to make ? ¢
(a) 27 ’

(b) 36

() 44

(d) 45

35. In how many ways can a batsman sco

exactly 25 runs by scoring single runs, fours

and sixes only, irrespective of the sequence of| "

- scoring shots ?
iﬁm_ :

18

actly one letter is to be put in exactly one
" velope with the correct address. If the
mserted into the
_ 'envelopes, the following
~ statements : LI

1. It is possible that exactly one letter goes
into an incorrect envelope.

etters are randomly
then consider

9. There are only six ways in which only
& 4 M two letters can go into the correct
i envelopes.
'“F{*‘

thh of the statements ngen above is/are

- correct ?
| (a) 1only
() 2only
| (c-)» Both 1 and 2
(d) Neither 1nor 2 £
il

37.

(57242)RSS1 2
(a) 2
o 49
o s B
@ 8

40.

such iEhath &, B, (€ Iy
hY distlnct

~ ABC + DEF = 1111, then what |
':fl':“.‘A+B+C~HD+E+R ;o
(@ R
(b
@
‘?_,(d)

28 g
29
%
5 &
b lt b '\\ ( b
‘YstaS-dlgltnumecht
‘number to the smn Gflts dl

rrep
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85 x 87 x 89 x 91 x 95 x 96
(a) O

b 1

(c) @&¢

d 4

What is the unit digit in

If ABC atd DEF are both

- mon-zero dlgits

1s the dlﬂ'erencg Mween
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Directions for the following 3 ( three) items -

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1 - Py

e

In India, while the unemployment rate is a

|8
frequently used measure of poor performance of

the economy, under conditions of rising school
and college enrolment, it paints an inaccurate
picture. The reported unemployment rate is
dominated by the experience of younger Indians
who face higher employment challenges and
exhibit greater willingness to wait for the right
job than their older peers. The unemployment
challenge is greater for people with secondary or
higher education, and mmg education levels
inflate unemployment challenges.

41. Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

v

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a
function of rising education and
aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d The education system should be properly
designed so as to enable the educated
people to be self-employed.

XDTG-S-DNK

 when divorced from the actual &

- science and ph:losophy

42,  Which one of the following s (

(23-8B)
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Passage - 2

“Science by itself is not
must be a force and disciplif
sciences to coordinate them &
goal. It is not possible to run &
when the goal itself has n
placed. What science needs is.
the analysis of scientific m
coordination of scientific
results; without this, any sc
superficial. Government sufl€
like science, for lack N
Philosophy bears to scieng
relationship which statesman:
politics movement guide
knowledge and perspective,
aimless and individual seekjng.
pursuit of knowledge becomes

and life, so the pursuit of politi n‘
destructive bedlam when div

reflects the most rational, logica
message conveyed by the' passage

(a) Modern statesmen need |
trained in lmentxﬁc m
philosophical th
have a better
responsibilitie

It is not desirable
managed by er
well mixed w
grounded in
wisdom.

(b)

i

©  As the stat-amwmre
products of a

d): lt is dmxﬂ* that
all s
hﬂomm as we
work goal-orienteq and
and useful to the g Sty
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Passage - 3

“The last end of the state is not to dominate

men, nor to restrain them by fear; rather it js S0

‘to free each man from fear that he may live and

act with full security and without injury to

himself or his neighbour. The end of the state, [
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies |
and their minds to function safely. 1t is to lead |
men to live by, and to exercise, a free reason: that
they may not waste their strength in hatred,

anger dnd guile, nor act unfairly toward one
another.”

43. Based on the above passage, which one of the |

following terms best expresses the ultimate
goal of the state ?

(a) Personal safety

(b) Health of body and mind
(c) Coxﬁmumil ha.rinohy .
@ Liberty

What is the remainder if 292 is divided by
6?
(a)
® 1
© 2

.

0

46.

47.

3

@ 4

Consider the sequence
ABC__ ABC_DABBCD_ABCD

‘ .that follows a certain pattern.
Which one of the following completes the
sequence ?
(a) DACB
(b) CDAB
(¢ DCCA

(d DDCA .
XDTG-S-DNK

(25-B)

AB and CD are 2-digit numbers
AB with CD results in a 3-di
Adding DEF to another 3-c1gi%
results in 975. Further A, B, Gs°
are distinct digits. If E = 0, =
A+B +C equal to? i

(a) 6

® 7 &

() 8 '&:

@ 9

" Consider owing statem

of five candidates P, Q, R
statements m true and o
false. '

oy

True Statement : One of P and

False Stateiﬁ_ent ¢
N
i

True Staterﬁent :

Which of the follos
drawn ? |

1. At least four

2.5 8 was select
Select the OI'Y
below :

(a)

[}
i

(b)
(e)
d) .

1 only
2 only



WWW.prepp.in

- ::ttp Q, R, S and T be five statementg such
a

: ?,1‘ If P is true, then both Q and S are true,
u If R and S are true, then T is false
ich of the following can be concludeq ?

If T is true, then at least one of
must be false.

If Q is true, then P is true.

, the correct answer using the code given

P and R

X "lonly
Qmﬂy

joth 1 and 2
ther 1 nor 2

dimensions 7cem x5 cmx 3 em is
d, green and blue colour on each

posite faces of dimensions
3, 5 cm X 3 ecm, 7 ecm X 3 em
- Then the cuboid is cut and
) various cubes each of side
. Which of the
e correct ?

following

xactly 15 small cubes with no
E ny face.

exactly 6 small cubes with
¢ two faces, one painted with blue
1e other with green.

sorrect answer using the code given

prep
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Directions for the following 4 (f ‘ ' ’
Head the following four We.‘ - ' -

Passage - 1

The paradox of choice is ill
story of Buridan’s ass. Jean Bum
century philosopher, wrote about fré
oose due to numes ou
. In the story, a donk
between two m appealing stack
Unable to decide“hinh to eat, it starve
Changes in techm and innovatig
smart phones ag tablets only exa
glut of chomeg.; Constant conne
overconsumption of real-time data

media can leave little room for se
rest; making décisions more d
about choices. Many people
with attractive life chowes, ye

unhappy and anxious.

51. Which one of the fol
reflects the most log ) by
the above passage ? ~
Both 1 and 2 (a) M‘:lle:n. teck
) !
‘Neither 1 nor 2 cture |
letters of . 'the word (b) i:;em y
A ess d
MPREHENSIBILITIES” are arranged 3
etically in reverse order. How many (c) e are.
] 7 of the letter/letters will remain others
own C@
ged ?
None (d Ino
not
Two L
Three
¢ (27-8)

L T bt K
AR .
A v NG s A
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ion to
i ia i ' Pharmaceutical patents grant protectl
Household finance in India is unique. ' i i j
. the patentee for the duration of the P bam
We have a tendency to invest heavily in

The patentees enjoy the liberty to determine t:;e
prices of medicines, which is time-limited o £5€
period of monopoly, but could be unaﬂ'ordableﬂ:
savings are critical. A populace accustomed the public. Such patent protectugﬁmd to
. ; ! patentees is believed to benefit

to traditional processes will not simply jump {he ' longer @A through inn ovations and
into financialization. Hurdles to change research and ‘development (R&D), ﬂlthough it
comes at a cost, in the nature of higher pri
the patented medicine. The patent reg
basic information about which of the myriad Prige protectiofiiis through a legallygyy

physical assets such as gold and property.

Steps to encourage the financialization of

e public over
.Y

include onerous bureaucracy, a scepticism of

ces for
organized financial institutions, a lack of

high price for the medicine during the T
services and providers is best for each family, the patent — provide the paten

and how (and even if) one can make the legitimate mechanism to get returns o

tr ition betw. een them if nece ss ] incurred in innovation and research. 5

52. Regarding the financialization of household 53, Based on the above passage, |
: ; tions h 3
savings, which of the following statements assum}.) S oot mady b
; . 1. Patent protection gi Ate
best reflect the solutions that are implied by 8 N to.p '
‘ a huge burden on public’s
the passage ? power in accessing patented me
1. A flexible environment is needed to 2. Dependence on other cour for
develop solutions, pharmaceutical products is
: burden for developing ang
2. Households n, i : . ' .l
| eed customised solutions. 3. Providing medicines to TR :
3. Innovations in financia] technology are o Prices is a key goal dy Y
reqiired. e public health Dolicy design S
el ~ countries,
ect the 1 ; ! =‘
= correct answer using the code given 4. Governmentg need to find o i
ow : | !
balance between the bie ;
(@ land2 only and the "equil'ements of t
4 Which of the above assumptj W\ k
10n8§ a4 !
2 and 3 only (a) 1and2' n&hVth?
(©)  1and 3 only (b) 1and 4
(d 1,2and3 (¢) 3 and 4
| (d 2andg
XDTG-S-DNK
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Passage - 4 L ‘ .
§ ) * A flag has to be designed with 4 horizonta
India sh.ould enéure the growth of {1, digital stripes using some or all of the colours red,
economy while keeping personal data of citizeng green and yellow. What is the number of
secure and protected. No one will innovate iy, a different ways in which this %"‘ done so
surveillance-oriented environment or i e
LR N a placg that no two adjacent stripeq\ e the same
where an individual’s personal informatiop, id colour U
¢ ur

compromised. The ultimate control of daty must

ol
Rk W (a) 12 s
reside with the individuals who generate it; tha, ; ("‘ ,
should be enabled to use, restrict or monetise {t (b) 18 i,
as they wish. Therefore, data protection lawsg (€© 24§

should enable the right kind of innovation — one

(d 36 1
that is user-centric and privacy protecting.

ik 57. A rectangular floor measures 4

54. Based on theabove passage, the following and 2 m breadth. Tiles of
ti ve been : & :
A ‘made 60 cm have to be laid such that &
L. Protection of privacy is not just a right, overlap. A tile can be placed in &
- “{."“A R . ‘ V ?
but it has value to the economy. so long as its edges are parallel

2. There is a flmdhnnié“iital link 'between

» the floor. What is the maxim :
privacy and innovation. tiles that can be accommodated o

Which of the above assu_xﬂpﬁons is/are valid ? (a) 6
(a) 1only ® 7
(b) 2only © &
(¢) Bothland2 @ 9

(d) Neither 1 nor 2

58. There are five pe ‘
; ) A
- 85. In an examination, the maximum marks for one of whom ha

each of the four papers namely P, Q, R and S Neither P nor
are 100. Marks scored by the students are in Task-2 must
integers. A student can score 99% in D how many w
different ways. What is the value of n ? (a)
(a) 16 \ 4 (b)
(b) 17 . ©)
(0 23 @
(d) 35

b 58

- XDTG-S-DNK ; (
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M are large number of silver coins
yem2gm,58m, 10 gm, 25 gm, 50 gm
each. Consider the following statements .
To buy 78 gm of coins one must buy nt
least 7 coins. i
4f

use less than 7 coins.
‘ h :f the statements given above is/are
1only
 Zonly
" Both 1 and 2
‘Neither 1 nor 2

nsider the following :
A+ B means A is neither smaller nor
~ equal to B

- A - B means A is not greater than B.

. A x B means A is not smaller than B.
A+ B means A is neither greater nor

equal to B. A
A + B means A is neither smaller nor
greater than B. '
ement : PxQ, P- T, T+R, R+S
lusion-1: Qx7T

S+Q

clusion- 2:
s correct in respect

of the following i
atement,and the Conclusions ?
usion-1 follows from the

\ '_ ich one
f the above St
Only Condl
Statement-

Only Conclusion
Stawment.
Both Con¢
follow from !

9 follows from fhe

lusion-l and Conclusion-2

e Stawment'

1 nor Conc]usion-z

To weigh 78 gm using these coins one ca&*

ConcluSIOD'
gtatement:

(33-B)

Read the following three pass

items that follow the passages. Your 6
items should bebaaed on the passaj

Sourcing from non-ag

(ﬁncultxvated syste

reflects the most lo C.
conveyql by the auth "

ms such as fol

-~ prepp
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impact of dosing poultry with
‘7.3.,-. the environmental impact of
jotics-manufacturing

companies not

their waste has scarcely been

g the rise of drug-resistant infections.
‘occurrence of drug-resistant bacteria
3

nding the pharma manufacturing

is well known.

one of the followmg statements best
s the most logical and practmal message

d by the passage (4

"

pI‘OtDCOls in place ..\;.‘ s

i ¥

ﬁeatment

i i promote

is necessary : to
,nmental awareness among people-

r-

read of drug-remstant bmna cannot

y with, as it i'"

“I""

| done awa erent in

rn medical care: ; g‘f;;'

. . ::,’ mpanies
-manufa,ctu_l'lng 5 Y;)f?)

IR St

prepp
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Benefits of good quall

accrue only when students'

gchool after having acquired t

knowledge econ
one of the se
uneducated W0

keep pace withé

strong learning“
there can be no 1
or skill develo
63. Which one
reflects the
(@
“:";’-‘b
)

(d)

T Ry

‘ %v#y i

(35-8)
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l"l;fw‘.ockwise, Child.1

S asses on to chi
)asSses on P child-2,
7 and %ot(:, Ch]l,df’ child-4 passes on
G i . any such
(including child-1) wil] the riny ¢

1ds of child-1 agajy g be in

. Question : Is p greater than d £

*v Statement-1: p>d is greater
" Statement-2: p’ is greater than 2.

one of the following is correct in respect
the Statements ?

) The Question can be answered by using

one of the Statements alone, but cannot
 be answered using the other Statement

alone.

" The Question
- either Statement alone.
" The Questio? can be answered by usiné

both the St tog.ether, .ﬂb;:::
‘Vclmnbt be answered using €'

~ Statement alone.

The Questio? can

by using both th° Statements to

o

than zero.

can be answered by using

tements

not be anWered even

gether.

67.

68.

(37-8)

Question : 1g (p+ d
(p—q+
integers

Statement-1 : (p-q) 13‘ i

Statement-2 : (p-r)is ™ -ga £

Which one of the following is ¢

of the above Question and th

The Question can be

one of the Statements

be answered using the oth
alone,

The Question can be answered
cither Statement alone.

The Question can be answere
both the Statements tog
cannot be answered us
Statement al ‘,' 1

The Question cannot be ar
by using both the Statement

(a)

(b)

(c)

(d)

In a party, 76 persons took te
took coffee and 15 persons took
coffee. No one taking milk take
person takes at least one d.n.ﬁ
Question : How many pe ‘
party ?
Statement-1: 50 persons to
Statement-2 : Number ‘
attended t
the numb:
milk on .
Which one of the foll‘ Aing is co
of the above Question ng the St '

(a) The Question can be S ol
one of the Statements al
be answered using

(b)

(c)

(d)
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121t number.,
Question : What is the number ?

T S t~ ]
Statement-1 : Ty sum of the digits of the
Number is equal to the prody,
. of the digits, N
Statement-2 -

The Number is divisible by the

A Sum of the digits of the
S ® number,
‘Which one of the following ;

be answered by using
ents alone, but cannot
g the other Statement

‘one of the Statem
be answered ygi;,

alone.

The Question cap be
either Statement alon

fb) answered by using

e.
The Question cap be an
both the Statements together,
cannot be answereq using
Sta__;ament alone.

X 4 .
The ngstlon cannot be answered even
by using both the Statements together.

(c)

but
either

@

For five children with ages a <b <c <d < e;
any two successive ages differ by 2 years.
Question : What is the age of the youngest
child ? ‘
Statement-1 : The age of the eldest is 3 times
: the youngest. :
The average age of the children
] is 8 years.
' Which one of the following is correct in respect
of the above Question and the Statements ?

(@ The Question can be answered by using
3 one of the Statements alone, but cannot
using the other Statement

'L - Statement-2 -

be answered
alone. |
The Question can be answered by using
either Statement alone. |

The Question can be answered by using

both the Statements th.ether, ; but
cannot be answered using either
Statement alone.

swered by using |’

prepp

. L' :(three)lmmd' Exams Guide

 following thre
items thay follow the passl

ltems

should be based on the

tr growing

season. They found that warmer winters with

ansition peripd from winter t0

less snow resulted in a longer lag time w?veen
Spring events and a more protracted %

window. This change in the spring timeta

ecological, social and economic cons
for agriculture, fisheries and tourism.
melts earlier, the birds don’t re
delay, or lengthening in spring

events.

71. With reference to the above pa

following assumptions have’liaen ma

1. Global warming is qausing Sprir
early and for longer durations. 4
2. Early spring a.p#longer period leng

is not good for ﬂrd populations.

is/are

Which of the if_u‘;!mve assumptions

: t be answered even
estion canno
vy he Statements together.

\ by using both t

(39 -

correct ? "'3‘,
(a) lonly |
(b)  2only

(c) Bothland2
(d) } Neither 1 nor 2

B)
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Passage - 2

A global analysis of nitrogen use efficiency —

? measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 04, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
‘the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent
greenhouse and ozone depleting gas, and other
forms of  nitrogen pollutlon, u'wludmg
eutrophication  of lakes d nvqrs ~and

contamination of river water. ’* i

W T

72. Which one of the following statemehts best
reflects the most logical, rational and crumal

message implied by the passage ?

(a)
is impera
and environment.
Production  of
fertilizers cannot be stopped as it will
adversely affect global food security.

(b) synthetic

Alternatives to crops that require excess

(©
of nitrogen should be identified and

cultivated.
Conventional agriculture using

¢ fertilizers should be replaced
agroecosystems and

(d)
syntheti
with agroforestry,

An enhanced efficiency of use of nltrogen
tive for both food productlon

njtrogen !

prepp

&8

Pas
d lifestyles, cn‘f‘ate

Along with susta in
. . ] rln )
justice is regarded as - p. laj;illve
‘. . i c‘
environmental parlance. i " ;ﬂ of the
b 1
bearings on political and @ h:um‘;’jts or
nation. So far, in our cllma e eluded
av
compacts, both the prmCI . ‘ dicial

consensus among nations. Jus
sense, is well defined. However, in .
climate change, it has scientific '
socio-political connotatxo . The cruCl "
in the next few years @l be how T€
technologies and regulatloﬁs are used o
the victims of dﬁate change. Justice o é
is not conﬁned b‘ctlons relating to mitigati

but includes the %ér notion of
na change and “

Which one o} &e following state
reflects the m¢st logical, ration ;.-
message conveyed by the passage 5

3.
(a)

(b) .
distributed
globe.
There is an

with a h
vietims/clin

(e)

@ Climate chilige
mostly due

therefore

organic farming.

\

XDTG-S-DNK
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A Principal p becoms

S Q in 1 year when | 77.

cr;mpounded half—yearly with R% annual rate

Ol Interest. If th, Same principal P becomes Q

in 1 year when Compounded annually with S¢,

annual rate of mterest then which one of the

following is Correct 9

(@) R=S “ p
1

® R>S |78.
Y

© R<S I}'Ah"

d R<S

How many natural numbers are there which
give a remainder of 31 when 1186 is dmded

by these natu;ng.l numbers ? § 7;
(@ 6 1 ;‘H
b 7 A A
) 8 ﬁ“;.
@ 9 !
76. Let pp, qq and rr be 2-digit nﬁﬁbﬁi’é{’:‘v‘vhere g

A\

p<q<r.Ifpp+qq+rr= ttOwhei'd“‘ttOisa‘
3-digit number ending with zero, conslder the
following statements : ‘

1. The number of possible values of p is 5.

2: ‘
Which of the above statements is/arg’cbrrect ?

The number of possible values of q is 6.

(a) 1lonly | R
(b) 2 only :
(¢) Both1and2
(d) Neither 1 nor 2
. XDTG-S-DNK (43-B)
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What is the sum ¢
than 2000 formed b
where none of the di

circle taken

(a) 7998

(b) 8028 :
(c) 8878 |
(d) 9238 g\} ]
What s J ’R {
10 consecu A

(a) 3 o

b)) 1 \”'a

(© 12 ,5#

(d) 66 ;

Y, thenhich

on 101°thdaQ{§r R

If today is Sn%a

smultanﬂously v

(a) 4’@0 p.m.
b 4 1@9 m.
o) W= 28 p,m, .|
@



